[image: image1.png]1. Wiite down the firstthree terms ofthe sequence descrived bythe nth
term -3,
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2. Afunction machine inpus a number, n, mulilies it by 3 and then
subtracts 6. Whatis the output for n=27
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3. P=E@-1) Calculate the value of P when B:=-5 and F = 20.
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4. 3) Wiite down an expression or the total cost in pence of x chocolate
bars at 80p and y ice creams at75p each
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b) Wite down a formuts for the total cost, C.

C= ?Ox+—’5\\j @
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5. Sam buys t spigemman oys o609 and 3 aLE1 20 Th total cost s €5
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) Winte down an expression for he pRrTtrP, o the rectange n terms.
ofx.
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a) Complete the table of values fory = + 3
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[image: image6.png]12. Hannah likes to feed the ducks at her local park. She leaves the house at
11.00am. The distance time graph shows her joumey.
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